7.5 Practice Solutions

Directions: Find the measure of the indicated angle to the nearest degree.
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Directions: For each situation draw a picture and then solve. Round to the nearest whole degree.

15) A man standing on a cliff 50 yards above the water spots a boat that is 150 yards out on the water. What is

the angle of depression from the man to the boat? so
X =

16) A man in a tree shoots an arrow down fowards a target at an angle of depression of 60°. How far is the target
from the base of the tree?
Aon (O

17) A man climbs to the roof of his house 25 feet off the ground. He needs toruna wmls satellite which is

10 feet from the base of his house. What angle of depression should the wire be at?
A8 =y

tny = 70 I 'l_(\
x= 4
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